transferred

transferred

problem found

problem found

problent™

not found problem not found

5. 030x075+0.60x0.10=0.285

6. 02x04=0.08

10,

11.

12.

13.

0.10 + 0.30 x 0.05 + 0.60 % 0.30 = 0.295
0.3 % (0.2 +0.05)=0.075

Pr{white, then red) + Pr(red. then red)

21 1 3 7
=—H—t—H—=—
3 2 3 4 12

) 40 1 5
Gondie) =—x—=—:
P ) 52 6 39
. 12 1 3
head on coml=— x—=—
Pr( )_52 2 26

king king king king king

~ king king king

king = king

Pr(king on 1st draw) + Pr(king on 2nd draw)
+ Pr{king on 3rd draw)
=1 — Pr(not a king on 3rd draw)

12 47 23 4324 1201
1- x—=1 =——=

—x—x—=1- = =022
13 51 25 5525 5525

a. Pr(white) = =0.75

e | o

3
4

b. Pr(red and white) =

ca | 2

6
7

¢. Pr(red and red and white) = 216
876

worn

fiction

not worn
worn

non-fiction

not worn

040 x020+060x010=0.14



14.

-
h

1a.

17.

18.

19,

bussed

not bussed

bussed

not bussed

Pr{elev. lead levels) =
0.77-006+023.-011=0.0715

%XU.DE 16

. Pr(male|color-blind) = =—=:09412

1x0084+1x0005 17

a. 060x003+040x002=0.026

: : 060003 9
b. Pr(machine I|defective) = e
0.026 13

05x09+05=x07=08

(0.5)(0.9)(0.9) + (0.5)(0.1)(0.7) + (0.5)(0.7)(0.9) + (0.5)(0.3)(0.7) = 0.86

1

_ gt 4
3,141
EXE—FEKI 7

Pr{:fake| I—]I-I] =

Note that 1f the bag onginally contains a white ball, then a white ball i1s always selected.
Pr(bag originally contains a white ball) =%

: . 1 1.1 3
Pr(white ball 15 selected) = — X1+ —x—=—
2 2 2 4

Pr{:bag origmnally contains a white ba]1| white ball is selected ) =

o | )=
| b

a.Pr(wins the point) = 0.60 % 0.75 + 040> 0.75 x 0.50 = 0.60

0.60x0.75
0.60
=075

Pr( first serve good and wins service point ) —

b. Pr(first serve good/wins service point) = - _ —
Pr{wms service point )



21, WIN
LOSE
WIN
LOSE
Pr(WIN) = 0.6 X 0.8 + 0.4 x 0.45 = 0.66
13. War

N War

o War

0.0001+4+0.9999> 0.00014+ 0.9999° x 0.0001 or 1— (0.9999)3 =2 0.00029997

24. 1-(0.9999)"

=)
th

S+ (.5}3‘ + 2(_5)5 =T

26. Same shape

. 3 03 3 2 3 3 221 3 2 3 21 3
Prwinning) = 4 =5 - x— 4 X - H K K — KK KX — =
6 6 5 4 6 5 4 3 2 6 5 4 3 2 4
Probability of winning card game is greater.
2
111 29. Pr(nightipart-timer) = — 00*2 3 _ 4375
27. a.Pr(white) = —x—=— 0.40x5+ 60x2 8
2 2 4
Prired) = 1 1 3 30. We want
(red) = T4 4 Pr(light 1s actually defective/found defective)
__ Pr(actually def and found def)
b. Prred)=06x05+04x1=0.7 - Pr{found def)
) 111 ) _ Pr(actually def and found def)
28. a. Pr(white) = 3 x0 +§>< £+§xl =3 Pr(def  found def) + Pr(not def n found def)
B 0.0005-0.99

b Ce | zed) = 1 1 1 - 0.0005-0.99+09995-0.01
. Pr(Cc|r }—ETE—E:{——E ~ 0.04719



3l

33

34.

L
th

36.

pr(y) = pr(&y N )+ pr(f Ny)
5| By )+ pr(7) p (3| 7

= pr(Ry }pf{_ﬁ’_z
(2l
-

26

. Pr{Green on second)

= pr(R)pr(Gy| Ry )+ pr(Gy) - pr(Gh| Gy
54 32 13

_-_+_-_
88 &8 32
Pr{get same number of heads)

= P1(2 heads) + Pr(1 head) + Pr(0 heads)
11 11 11 3

=— ==

44 22 44 8

a. Pr(bothred)=—.2=2
76
Pr(both f:lﬂu}—E 2_1
& 76 7
b. Pr(exactly 1 red) = ii+ii _3
76 76 7

. a. Since printer B produces 201 models 99 out

of 100 weeks, Pr (printer B produces more
models than printer A) =0.99.

b. For printer A to produce more than printer
B. printer B would have to break down.
Since this only occurs 1% of the time, the
probability that printer B produces more

models than printer A 1s 0.99°% ~ 0.1340.

a. Lou’s average score 1s
0.70(3) + 0.30(6) = 3.9, while Bud’s average
score 1s always a 4. Based upon long run
averages, Lou will do better on a single par
3 course.

37. a. Pr(red die = blue die) =% +

b. Summarize the outcomes of Lou in the table.

The table represents Lou’s possible scores
on two consecutive par three holes:

3|3
3|6
6|3
6|6

Since Bud always scores a 4. his outcomes
are

| e
| e | |

Lou only wins in the first case when he
scores a 3 and a 3 on two consecutive holes.

The probability he will do this is
(IEI_I"]I2 =0.49. so Lou has a 0.49 chance of

winning and Bud has a 0.51 chance of
winning on two consecutive holes.

3
6

P | =

1, 1_7

1
2712 12

b. Pr{blue die = green die) =—+

=

1
2

=

1,5 7
6 12 12

c. Pr(green die = red die) = 0+

an | Lh
on | Lh

2s_25
36 36

d. Since the red die beats the blue die more than
half the time and the blue die beats the green die
more than half the time, the red die appears to be
the strongest of the three dice and the green

appears to be the weakest. However, the green
die beats the red die more than half the time.



